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QUESTION 1

An EMC Implementation Engineer (IE) is performing routine maintenance on a Symmetrix attached host. The IE needs
to find out which patches have been installed on a specific Solaris host. 

Which command should be used? 

A. # patchadd -p 

B. # pkgchk -l 

C. # swlist

Correct Answer: A 

 

QUESTION 2

A customer intends to use TimeFinder VP Snap to create multiple replicas of their production data. 

What is a requirement? 

A. Production and Target devices must be thin. Target devices must be bound to the same thin pool. 

B. Production and Target devices must be thin. Production and Target devices must be bound to the same thin pool. 

C. Production devices can be standard or thin. 

D. Production devices must be thin. Target devices can be standard or thin. 

Correct Answer: A 

 

 

QUESTION 3

What would the RPO be in an SRDF/AR Single hop configuration? 

A. one cycle 

B. two cycles 

C. four cycles 

D. eight cycles 

Correct Answer: B 

 

QUESTION 4
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What is the maximum number of concurrent differential TimeFinder/Clone sessions that can be created from a single
source device? 

A. 8 

B. 10 

C. 12 

D. 16 

Correct Answer: A 

 

QUESTION 5

An administrator wants to add a Symmetrix VMAX FA port, not previously used for autoprovisioning, to an existing port
group. However, the command used does not complete successfully. 

What is a likely reason? 

A. ACLX flag must be enabled on the FA port 

B. Maximum number of ports in the port group is already configured 

C. FA port is already a member of another port group 

D. FA port is already a member of two other port groups 

Correct Answer: A 
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